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They are the arrows of the deaf-mute — 7 W7 XN

OVERVIEW

The X3 cites a 71wn which states that if one placed a fire in the hands of a wan
o1 7w and it did damage; the sender is QX °1>71 MWD but is 22w °1°72 2»1. The
X773 continues that according to >"7 (who maintains X1 21wn» W) it is understood
why he is My, since it is the X1 of the wAn (the w7 made the fire); however
according to "7 (who maintains 1% 0Wwn WX) he should be 21 since this is
comparable to one who placed his ox by a 7"'wn where he is 211 for the damages
made by the M. Our Mo01n clarifies this discussion.

MooIn asks:
- ‘:wm: ) INY 2499 1981 NI YINY 190N VYN IN rdak i 19%249Y NN

The >''1 is astounded! If by delivering the fire to the w2 the ensuing damaging
fire is considered as common as a common wind, he should be 217 even
according to >'"" -

- 199 Y01Y 31T KXY NN WIPY WY AUP D19 12 ON NN NI 2PUN KY IN)
And if the ensuing fire is not considered as common as a 7»%» m9; what
therefore is the difficulty with "=, since the case of the fire (where it is not

considered a 7m1¥n mM") is not considered the same as delivering an ox to a 'vn,

whose ensuing damage is considered likely -
= NN NN PITNY NDIDNA NN WNRN DY YD 129N PRT 17 XYY »10 NNY

Since everyone agrees that there is no liability for making a fire unless it can
damage ;7137 m93?!

Mo0IN answers:
= 198N DIYVN IYN 9INT INDDT PN 13929 99IN)

And the >''1 answers that according to the one who maintains 137 212n WX -
= 8N PYD PN INTID 2999 NN NN NI PITNY DIPYW YNA NN 29NN XY NN

He is only liable for a fire that can damage with a very common wind and it is

virtually certain to do damage; just as his arrows are virtually certain to damage -
- 11 WANYT 18N PSNY 3941 XY 7950 PID INTIY 2999 NYIYH NYYNA PR NN

However here (where he delivered the fire to a 7'wn) it is not virtually certain to
do damage, therefore it is not similar to his (the adult’s) arrows, but rather they

! When he hands over the fire to the 1"wn, it is his %7 since it will inevitably damage like any fire which he kindles.
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are considered as the arrows of the = -
= 2901 NN 215 112130 NDT 2) DY GN 199919 DIVN 9INT INIDD YaN

However according to the one who maintains 1177 21272 WX, so even though it

is not that inevitable to do damage, nevertheless he is liable -
- vIn vy PPOY T by z"”\?)b 19944 29N WINY NN NYP INY 909N MHNT P

Since this case is similar to one who delivers a properly tied ox to the custody of
a wan, where he is 31, for it is the manner of the ox to become untied through

the antics of the wan -
- 2P0 PYa INTIY 2195 91 RYT 2 Yy 9N

Even though that in the case of the ox it is not virtually certain that he will
damage as it is by his 19217 —

mDoIN anticipates a difficulty:4
- *nanbv 19 9993 199N 9909 79 90197 N

And the reason >''1 exempts from payment even when he delivered a burning

torch to the v'wn -
= 8N OIVN YN NY NINT 6;"’)3)’\77 591INT DIVN INY

It is not because he follows his reasoning in which he maintains that 2w Wwx
T -

= 19990 0IUN 393 1YY NINT PI0N NN
Since the X713 concludes that °'" also agrees that 2y%% 2125 WX, so why is he Mwd?

mooIn responds:
$(3,0 97 NP 7992 71999875 *9W 119 XPITA 993 XY NANYY 92057 DIV NIN

But rather he is 75 because °'"7 maintains that a nan»w is not certain to
damage, as we stated previously in the first p=p."

% The n"a;7 M7 amends this to read ¥ 2112 13777 (instead of *Mwi%). [Others read it ™. ]
? There are therefore three levels; a) MM¥n ArRw MO where all agree that he is My, b) 7°1¥1 M1 where he is 217 if we
maintains 111%% 21w WK and it is similar to an ox (but not if we maintain 1°%17 21W» WX since it is not *RT? 217P), ¢)
7277 7273 M0 where he is liable according to all, even if we maintain 1°¥r 21w WX since it is *X717 217p like 1¥n. See
‘Thinking it over’ # 2.
* The thrust of MooIn difficulty is that the X»3 concludes that *"1 agrees that in cases where we cannot say DWW WX
¢, nevertheless he is still 2717 for 1mn 0w WX, According to this X107 why does "' exempt him in a case of 1on
na7ow 12, where %" maintains he is 21, since both agree 1n DWwn WR?
> This is in opposition to "3 who maintains N7 12 707 is 21 (only nNor3 12 7o is D).
% This is in opposition to *"w7 who states 7K > 71"72 that the reason 272w is w2 is because VXM DWR WX,
7 In the X3pon we cannot use the explanation N0 offered us initially, since *"1 agrees that WX is also 12n Dwn .
See ‘Thinking it over’ # 1.
¥ Not only is 1"wn? 110n not X1 >72 as XM it is not even XPr "3 as MW,
? See MooIN there > "7 (that the 1"wn watch the MW slightly). See (however) X5p nX o171 " .
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SUMMARY

XN DWW WK requires a greater certainty for damage to occur (in order to be 2°°m)
than if we maintains Mn»» Dwn WX, The argument regarding nam?w is simply
whether it is as X177 °72 as M.

THINKING IT OVER

1. According to noIN that 1°Xn 0Wwn WK is only when it is X717 2177 (otherwise it
is 1mn Dwn WX according to the Xipon);'' later'> when the X3 asks if we
maintain X1 2Wn WX how is it possible that there should be a Mus of WX MY
(since it 1s 1°X¥17), why cannot we answer that it was an WX with a regular 737 M9,
not X712 7P in which case it is 11 Dwn, and not P¥n awn?"

2. According to Nv01N if we maintain 1°X1 21WwW» WX (only), one is liable only if the
damage is virtually certain; however if we maintain 1277 21Wwn WX, one is liable
even if it is not virtually certain.'* This seems counterintuitive that the damage
attributable to the person himself (X1 2wn) is less liable than the damage
attributed to his possessions (1177 21Wwn)!

10Tt has nothing to do whether 1°X1 Q1w» WX or 117n 0Wwn, but rather whether it is X177 12 or not.
' See footnote # 7.
12 x,3.
13 See Tmoni "wnon 10K # 66.
1 See footnote # 3.
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